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The question paper comprises five sections, A, B, C, D and E. You
are to attempt all the sections.

All questions are compulsory.

Internal choice is given in sections B, C, D and E.

Question numbers 1 and 2 in Section-A are one mark questions.
They are to be answered in one word or in one sentence.

Question numbers 3 to 5 in Section B are two-marks questions.
These are to be answered in about 30 words each.

Question numbers 6 to 15 in Section C are three-marks questions.
These are to be answered in about 50 words each.

Question numbers 16 to 21 in Section D are five-marks questions.
These are to be answered in about 70 words each. (8

Question numbers 22 to 27 in Section E are based on practical
Each question is a two marks question. These are to be ansy
brief.
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SECTION-A
1. faga aftey § deadfier %1 w0 s g 27 1
What is the function of a galvanometer in a circuit ?
2. SRIE (W9 T19) H IcHE (ITH) S 6 T Sar 2 7 1

Why is biogas considered an excellent fuel ?

AT
SECTION-B
3. 98 9 gednua fRan S gehar & T snyfaes sred gnoft fafis 9t #
T[T % FoIFeh [S=T8 X AT 37 2
Srera
Terelt ear =1 getereiTeh fomame 2, 8, 4.2 ¢ |
(a) 3G s @l #§ 59 de 6 qu G 3R aed gen ffau)
(b) 38 Tca =1 T 3R 5T U Wi et ferflm |

How it can be proved that the basic structure of the Modern
Periodic Table is based on the electronic configuration of atoms of
different elements ?

OR
The electronic configuration of an element is 2, 8, 4. State its :
(a) group and period in the Modern Periodic Table.

(b) name and write its one physical property.

4. Syl YaH FE % AU AE IR § 89 9 o o 3uwEd (fague)
% 21 fafim en fofaw) v § a9 9 3are e 2

Write two different ways in which glucose is oxidized to provide
energy in human body. Write the products formed in each case.

=
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Define the term power of accommodation. Write the modification
in the curvature of the eye lens which enables us to see the nearby
objects clearly ?

WHT-
SECTION-C
ferelt = fem & 2 ¢ foear Foivse 9 3@ ¥o T F fu @
SRTST § T T R | 56 SR § 37T T Neqvr i ? 2 areht aerafE
arfufsean =1 wqfera vEmafe g Fiftv) g Emfe st
YT =l TEETERL IRy |

HIAT

fr= feu oy v # 219 areht R F R @ v sk
3ge T Hafea wamfis wdfewo fafau)

(a) Tk Foear Amede A wafufsrn & e Tede ok foear v 2

(b) TRRm swieRs A AEee ¥ ARfRT w1 MRfiEm i ik
AT ATAIZIFE ST )

2 g of silver chloride is taken in a china dish and the china dish is
placed in sunlight for sometime. What will be your observation in
this case ? Write the chemical reaction involved in the form of a
balanced chemical equation. Identify the type of chemical reaction.

OR

Identify the type of reactions taking place in each of the following
cases and write the balanced chemical equation for the reactions.

(a) Zinc reacts with silver nitrate to produce zinc nitrate and
silver.

(b) Potassium iodide reacts with lead nitrate to produce potassium
nitrate and lead iodide.

317171 4
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0 3 #iR =R H TeaE i REd SifeTs Fees e g gl
%mmwm%?@@ﬁammmw%?@ﬁam
foFe geRT & 27

Identify the acid and the base from which sodium chloride 1s
obtained. Which type of salt is it? When is it called rock salt? How
is rock salt formed?

aﬁﬁ%wﬁéﬁm%aﬂm%yﬁaﬁ%mmaﬁagﬁ
F gu, A9 fau o A % snfvae - fta:

(i) @9 (g9) 1 % dedl A1 SHAFIES

(ii) @9 13 % dcdl H1 acIss

(iii) &9 2 % deT A 3R =g 17 % e B % qARH 4 a4 A
Based on the group valency of elements write the molecular
formula of the following compounds giving justification for each :
(i) Oxide of first group elements.

(ii) Halide of the elements of group thirteen, and

(iii) Compound formed when an element, A of group 2 combines
with an element, B of group seventeen.

& e ) s arfesmed & 9w fafae) s & v e ag &
3g@ Hifeu|

Write three types of blood vessels. Give one important feature of
each.

<4 sl % F foRau S o sl # e TR e
A 9L B 2

Trace the sequence of events which occur when a bright light is
focused on your eyes.
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©F &40



11. 9w W # da 87 Fafafes % R et gy #9 ¥ am

12.

forfam

(i) @ i 9z ¥ gems

(ii) IfSreR favmem = S e

(iii) Ffg =1 Gem

(iv) Fifere i e gfz § Tar

What are plant hormones ? Name the plant hormones responsible
for the following :

(1) Growth of stem

(i1) Promotion of cell division

(1i1) Inhibition of growth

(iv) Elongation of cells

39 Uy 1 A4 fafaw e swam dea 3 oy w@n § fear o siw
ﬁﬁaﬁaﬁtaﬁmwwaﬁwa}ﬁﬂaﬁtnﬁ%ﬁﬁ
dafdl b FH § SER W g? F, Nt F 3% ww i 4 s
fafau

HYAT

e 1 Th-TF IETEWT S §U IUIfSHa 3R Srafies wait & g 2
= h G SR

Name the plant Mendel used for his experiment. What type of
progeny was obtained by Mendel in F, and F, generations when he

crossed the tall and short plants? Write the ratio he obtained in F,
generation plants.

OR

List two differences between acquired traits and inherited traits by
giving an example of each.

31/1/1 6



13. YA H1 27 FHUY S quiA % fog Fmifr sw St

What is a rainbow? Draw a labelled diagram to show the formation
of a rainbow.

14. amfye & feR $i gqen # F9 w9 FE IER R
T 87 i faferat gamsul
HUAT
rfees <t aftr faftgw) e wiies § -y g % fore s
e Sty
How can we help in reducing the problem of waste disposal ?
Suggest any three methods.

OR

Define an ecosystem. Draw a block diagram to show the flow of
energy in an ecosystem.

15. S GUET A wed 37 AnEiie TR W o TUEY § G 3l S
it Y g SR T i G Sucteudr § Sraherdl o o HE
fafam|

What is water harvesting? List two main advantages associated
with water harvesting at the community level. Write two causes for
the failure of sustained availability of groundwater.

HIT-2

_ SECTION-D
16. (a) aiferer % &9 & 3 @9 et ouw & g s s
| a7y T B UTg SR g o i fatE F Ewd 2

(b) fr=fafaa & fog wror g
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(i) 3 (1) e7se [Fe,0;] #i aw Uefafem & any
sAffsran &1 3w wefeh ol B @ #oSed § fen
SITar 2

(a) List in tabular form three chemical properties on the basis of
which we can differentiate between a metal and a non-metal.

(b) Give reasons for the following:
(1) Most metals conduct electricity well.

(i) The reaction of iron (IIT) oxide [Fe,O:] with heated
aluminium is used to join cracked machine parts.

34 i 1 A 3R TEEt g i oot Yesreten S wared
&1 WECAYUl 3aT9 &1 T o ST hl G a0) B Al sy
1 TS FHIHRW T 3ea1g 1 919 fafae 5= 78 difis -
(i) wifeam ang & rfufsean e 2
(i) T Hig Fewrfeh 3t & AT Fen 2
HYAT

R 91 R? gEehl goagiA-farg woa difow) s@ difte § s g
e 1 TR fafay) 39 gewr & dift
(i) foera & Fames au
(ii) 8 TeETh R FH FYATF AT 6 BId 87 FAT BT 2 A 39

ik &1 ST § 28T drar 27
Write the chemical formula and name of the compound which is
the active ingredient of all alcoholic drinks. List its two uses. Write

chemical equation and name of the product formed when this
compound reacts with —

(1) sodium metal

(i1) hot concentrated sulphuric acid

31/1/1 8
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OR

What is methane? Draw its electron dot structure. Name the
type of bonds formed in this compound. Why are such compounds:

(i) poor conductors of electricity ? and

(ii) have low melting and boiling points? What happens when this
compound burns in oxygen?

g ) gt Ry B ywr ¥ wewi f e fifs
T % @ uevel (aTeshl) @ gEl SRl Sugw Tl fRE SR
e Y 30 S S T B0 ST 8 7 5

CLEL

(a) f2U U s i TR FEE AT 1 H S
7% & AW fafau)

(b) T e fRd e &7 mi-frue fafea
SO & i e} i g S|
Define pollination. Explain the different types of pollination. List

two agents of pollination ? How does suitable pollination lead to
fertilization ?

OR
(a) Identify the given diagram. Name the >
parts | to 5. 3
3
i v 4
Wl
. . |4
(b) What is contraception? = List three RS
advantages of adopting contraceptive
measures.



19. #I% fomt 30 em w8 g & et s@aa oW ¥ 60 cm gt W fea
2l
(i) o9 gF 1 394 ek 9 § gfafera hit gft 7ma Ao
(ii) 39 YO § a4 o fdfers & 9r sifyason (wfa, feufq,
qres, €Y /3eer) i get S|
(iii) W7 (ii) ® feu mu e I it gfy % o femor smm difem)
An object is placed at a distance of 60 cm from a concave lens of
focal length 30 cm.
(1) Use lens formula to find the distance of the image from the lens.

(i) List four characteristics of the image (nature, position, size,
erect/inverted) formed by the lens in this case.

(1i1) Draw ray diagram to justify your answer of part (ii).

0. (a) fore 3w ey e Y e @ T fig fifve R aeds |
! gt il & 98 % qod Wy 1 ok gYs giadst &
el % AN % U BT 2
(b) Toreht uftaer & 12 Q % <t wfediess 6 V 6 a2t & fad @ urwdssn
¥ waifora g1 el @ off 78 ama 3 Hifs
HYAT

yftger # Zuie AR 6 V H fF a8 & 20 Q wRy @
foega a1 4 Q 0y & =re @ wEfea 2| fr=fafaa & o=

afterfera hifsa: @
(a) fta =T FeT gl |

4Q
 (b) ufwyr # yanfga o,
. (c) (i) forga ey @i I
(i) =eTe @ & W
feae qen L >Rt~
(d) a7 $i v o
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(a) With the help of a suitable circuit diagram prove that the
reciprocal of the equivalent resistance of a group of resistances
joined in parallel is equal to the sum of the reciprocals of the
individual resistances.

(b) In an electric circuit two resistors of 12 € each are joined in
parallel to a 6 V battery. Find the current drawn from the
battery.

OR

An electric lamp of resistance 20 Q and a conductor of
resistance 4 Q are connected to a 6 V battery as shown in the
circuit. Calculate :

(a) the total resistance of the EE)

circuit, 40

(b)the current through the
circuit, A

(c)the potential difference
across the (i) electric % » K
lamp and (ii) conductor, .= HGHVH: > @T(')_
and

(d)power of the lamp.

21. ufETferdt fFa wead 27 (1) fordt amamd aferfess o (i) foret ®3
e i e & taredt W e smifa Fifw) 7 g &l %
favieerd @agon <l g A5y 5

What is a solenoid ? Draw the pattern of magnetic field lines of
(i) a current carrying solenoid and (ii) a bar magnet. List two
distinguishing features between the two fields.

31/11 11 [P.T.O.
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SECTION-E

22. & WEAfEl A 3R B 5 s @9 HCI 3R NaOH fa@aa st 8, o

23.

fiet forena w1 foemw fiemn T 81 =@ @ few wase § o A
qfads femrd Tm? g o1 ufeds &1 IgE Fifvu o gEe @
gifsrg

HYar

foreft T 3R yoF wwEeel, ol 1 g wifgan FEEe faar w2,
2mL T TSSIaeliNe: o0t fHer U 3717 a1 Qe wid 8¢ B arel
sfifshen =1 TrEmafe Tt fofan)

Blue litmus solution is added to two test tubes A and B containing
dilute HCl and NaOH solution respectively. In which test tube a
colour change will be observed? State the colour change and give

its reason.
OR
What is observed when 2 mL of dilute hydrochloric acid is added

to 1 g of sodium carbonate taken in a clean and dry test tube? Write

chemical equation for the reaction involved.

fF weAferm A, B 3R C # www: o fafis za-smga 5id1, (o
3T Irgd e e ook gl e aete ge @, fau e E | aes
'qrEet § W AT H A o fae e seftiifa faemar mn )
T A fore wEAeht ® s fit evend siftrram Enfi? oo 3w A gfy
i)
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25.

In three test tubes A, B, and C, three different liquids namely,
distilled water, underground water and distilled water in which a
pinch of calcium sulphate is dissolved, respectively are taken.
Equal amount of soap solution is added to each test tube and the
contents are shaken. In which test tube will the length of the foam

(lather) be longest ? Justify your answer.

¢ o el geuesf § oxht % foers % SRl STUr 1 e
71 2| geway H AU SER 131 o HEET H AR S G|

s
2rEel # HEe 1 gy % fo 3fua e | A sma wife

A student is observing the temporary mount of a leaf peel under a
microscope. Draw labelled diagram of the structure of stomata as

seen under the microscope.
OR

Draw a labelled diagram in proper sequence to show budding in

hydra.

“gag H1 ety § CO, Fwadt 2 g8 vgm f g smaen § 39
vared 1 A fafau R e s @ g S8 wreAet § fon
HET 2| 30 uErd w1 FE N T 35 % aftomy 1 3g@ i)
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26.

In the experimental set up to show that “CO; is given out during
respiration”, name the substance taken in the small test tube kept in

the conical flask. State its function and the consequence of its use.

feret wfererss @ yanfea amr (1) W 39 wfodys & &l = favara (V)
$ fofear 1 e w1 g9g gfatus @ gfety s FE & o
forelt o 3 amwr & fafim o= & fow 5 ureams a9 Vool [ % =
o el 98 W g forg § TN arell e W@ 9Tl 98w
gferd T 87 39 UT% I WA ek Ufeiesh @1 Sfaty Feifa w5
i fafyr feafau)

HAAGT

3u feufa d e foreh w1 1 == gaima & 5 9 38 wiar @ o6 afoy
gerr g W ot anfier o dieediet % Hehdeh/ggAl T UUET W
ifea Y fol o |uwt 78 & 7 e § HAfaftd et/ aieeHie
ITTH TEl &

While studying the dependence of potential difference (V) across a
resistor on the current (I) passing through it, in order to determine
the resistance of the resistor, a student took 5 readings for different
values of current and plotted a graph between V and I. He got a
straight line graph passing through the origin. What does the
straight line signify? Write the method of determining resistance of

. the resister using this graph.

31/1/1 14



OR

What would you suggest to a student if while performing an
experiment he finds that the pointer/needle of the ammeter and
voltmeter do not coincide with the zero marks on the scales when
circuit is open? No extra ammeter/voltmeter is available in the

laboratory.

27. 3 WR wEartE i g s e wen R oom @, 38w
1 w1fey S 98 fou 0 Ia@ dw i wiew gt e gwy frm %
wfdfera &t foret wg o e ek feifa s 2

List four precautions which a student should observe while
determining the focal length of a given convex lens by obtaining

image of a distant object on a screen.

31/1/1 15
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(i)
(i)
(1it)
(iv)
(v)
(vi)
(vii)

(viii)

$7 -9 %I gier 9T, 3, &, &, § 3K T F FieT 7 & | 3779 qut 9 &

Yo7l & IR 1@ & |

qut g A g 1

YT &, &, § 3R T & o § AR =7 15397 77 & |

YT 37 & J97 G&IT 1 37K 2 Th-Uh 37% & o7 & | §79 I} T ¥eg 3797

T a3 & ‘

gygﬁag%wy@r3#5ﬁ-ﬁwﬁ%w?/ﬁ%mwwwm
/

YT § & o7 G 6 T 15 T7-d17 3H & F7 & | F99 I T 50 Fg]

v g 8 | e |

YFT § % J97 G&IT 16 & 21 YIT-914 37H] & Jo7 & | 399 I YT 70 5

JH H G &/ '

YFT F & FT GEIT 22 G 27 FINTIHF HIA T R §1-51 3751 & Fo7T & |

$7% G I G & |

General Instructions :

(1)
(ii)
(iii)
(iv)
(v)
(vi)
(vii)

(viii)

The question paper comprises five Sections, A, B, C, D and E. You are to
attempt All the sections.

All questions are compulsory.

Internal choice is given in Sections B, C, D and E.

Questions number 1 and 2 in Section A are one-mark questions. They are
to be answered in one word or in one sentence.

Questions number 3 to 5 in Section B are two-marks questions. These are
to be answered in about 30 words each.

Questions number 6 to 15 in Section C are three-marks questions. These
are to be answered in about 50 words each.

Questions number 16 to 21 in Section D are five-marks questions. These
are to be answered in about 70 words each.

Questions number 22 to 27 in Section E are based on practical skills.
Each question is a two-marks question. These are to be answered in brief.

AT A

SECTION A
A1 % 3cATGl T ARG & I8 o % fafaw |
Name two industries based on forest produce.
forgq Srectl o fargq, seaftEl o a1 sreEe g G o 7 g gt %
T S B 3 ?
Why are the heating elements of electric toasters and electric irons made
of an alloy rather than a pure metal ?

317211 2
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SECTION B
3. Ul w1 anfvae g fafay o sueht saeei-famg s Efifae | 2
Write the molecular formula of ethene and draw its electron dot
structure.
4, U1 ?ﬁﬁq :

(a) I, TMee IR FHeat 1 ITAN STV i s H fohaT ST 7 |

(b)  wifeay i ufirm St argsti w1 wueru daf § gae fRn St e |1 2
arera

FB R dh 9 § Gell Tad W fiear (A7) 6 aeqe sieft 9g It 8 Sefen

HIR (qTe) o Tl bl ol H W T 3T FHehIcl P I8l W &l T 59 STt

? | 917 § ufeya 39 ugredt & AW fafew S g7 argent @ stfufskan e § qen

g9 9T Icqrel & 1 forfe | 2

Give reasons :

(a)  Platinum, gold and silver are used to make jewellery.
(b)  Metals like sodium and potassium are stored under oil.

OR

Silver articles become black when kept in open for some time, whereas
copper vessels lose their shiny brown surfaces and gain a green coat
when kept in open. Name the substances present in air with which these
metals react and write the name of the products formed.

5. &l 1 MO uEdAh 17 7 | ®& H TR hl @A 714 hitee | fafa |
TeRTRT 1 =T 3 x 108 m/s B | 2
The absolute refractive index of Ruby is 1:7. Find the speed of light in

Ruby. The speed of light in vacuum is 3 x 108 m/s.

qHr |
SECTION C

6. FaIYF Tt H B (II) A8¢e o Al T o 0T hl TH H T HEAT HIHR
JFETSE, Oy AT HIS Y 9 X et 7 | 3
(a) 3T 3fufsran & TR 3 1 X &l Y8 |
(b)  sfufsran =1 Tgfera Tamfe Tt fafa |
(¢) T8 X T fae=e &1 pH WiE ffaw |

817211 3 P.T.0.
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On heating blue coloured powder of copper (II) nitrate in a boiling tube,
black copper oxide, O9 and a brown gas X is formed.

(a)  Identify the type of reaction and the gas X.

(b)  Write balanced chemical equation of the reaction.

(c) Write the pH range of aqueous solution of the gas X.

(a) Torell 37T 1 Thd hLd THI AT STV FAI hi Il 7 foh A ol
S # T =iz T o6 5 1 o | 2

(b) Ih TESOH FANGS NH I fofemd oF & W § His qiadq &l
A | w2

AT
I A Aifeam grsgidarss fhm TR ST STt 8 2 39 fshan 1 9 foiRaw |
39 Ufsha H IUIcaTg o €9 H i M9 X o 8 | I8 79 94 & a1 | 1w
hich ohis ATk Y SHTC! &, SrEent 3w WEa e 4 foieH e & ®9 °
fopam STaT B | X SR Y I ygENU dun g arefl Stfufshanstt & v
grfiertor fafau |

(a)  While diluting an acid, why is it recommended that the acid should

be added to water and not water to the acid ?

(b)  Dry hydrogen chloride gas does not change the colour of dry litmus
paper. Why ?
OR
How is sodium hydroxide manufactured in industries ? Name the process.
In this process a gas X is formed as by-product. This gas reacts with lime
water to give a compound Y, which is used as a bleaching agent in the
chemical industry. Identify X and Y and write the chemical equation of
the reactions involved.

IYFYHl TFATES T BId & ? Ueh 3QTE0 IWT | 319 I 6l gfee & few
Hdfora TEfeh FHieh faRay |

What are amphoteric oxides ? Give an example. Write balanced chemical
equations to justify your answer.

HIed AfTenl hI TASAE S0t T BT B 2 Teh 3@ ST qAT 39k did
rfiyctegon At FE SR |

What is a homologous series of carbon compounds ? Give an example and
list its three characteristics.

317211 4
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10. difdshl & &9 H OIS qmor R fowmadt qmwor & g 9 et
rfiyereqon T FE TR | 3

List in tabular form three distinguishing features between autotrophic
nutrition and heterotrophic nutrition.

11. IraicEsd Tl gd @ 2 39 @ i fARgu | 3
HAAAT
(a) ATl {8 HEd § 2 ITgdl o oI I8 =i A1awer 3 2
(b) TR o HEa®d UGdl § 9eref gl dgad & ? 3
What is transpiration ? List its two functions.
OR

(a)  What is translocation ? Why is it essential for plants ?
(b)  Where do the substances in plants reach as a result of translocation ?

12. TfhER o1 BT B 2 39 [y v o i fafgu | 3

What is carpel ? Write the function of its various parts.

13. I3 B A fopet g1 1 3794 F19 § Uhel g3 &, UV h WIedh IS

T I 3T HISdT 8 | 3Hoh U I8 UUEfdd JehIST i YUl & fehe Tt i

! 3ffc T ST 7 | 3

(a) U I S o T 30 =1 ST =0 2

(b) 3ok U ToRE TR T UOT T ?

() o1 98 39 ThIThaId g1 30 UUl <l |idehe Wiy gl Fulf@ o
T ? S0 ThUT § 79 I sl Ifsc U gt 3T Th1eT fohtor i@
et IV |

CPC)]

10 cm ST IS o 12 cm IhE gt & fhefl 3Ta1 0 & &I 319 & orad.
@l ? | oE g fore gl 18 cm § | S Ao widfersr shi wepf, feafa stk

1SS T 1T | 3
A student holding a mirror in his hand, directed the reflecting surface of

the mirror towards the Sun. He then directed the reflected light on to a
sheet of paper held close to the mirror.

(a)  What should he do to burn the paper ?

(b)  Which type of mirror does he have ?

(c) Will he be able to determine the approximate value of focal length

of this mirror from this activity ? Give reason and draw ray
diagram to justify your answer in this case.

OR
A 10 cm tall object is placed perpendicular to the principal axis of a
convex lens of focal length 12 ecm. The distance of the object from the lens
is 18 cm. Find the nature, position and size of the image formed.

817211 5 P.T.0.
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16.

R O 1 BId @ ? R U hl G hl e HIfSu | 9 At § 9g O
Y@ ol i G TR |

What are solar cells ? Explain the structure of solar panel. List two
principal advantages associated with solar cells.

geell % SPHUSH o HUl T H AISH g "UIled 3w il fifey | a8
fr8 TR S 7 2 STgEvEA | A ol U § e o foiu Soerht dvaifya
WA &1 AW faRau | 59 WEl o 39§ fhg i HY <hl ST gehdt B 2
Write the essential function performed by ozone at the higher levels of
the Earth’s atmosphere ? How is it produced ? Name the synthetic
chemicals mainly responsible for the drop of amount of ozone in the
atmosphere. How can the use of these chemicals be reduced ?
R 1 £
SECTION D

(a) HSHAE o 3TMEd HEH I FHIGT o AT Teheal dF S&UT 3T FH SHTST |
(b)  MYHeh 3TTad ARl |,

i) et 3mad @ 9@ @ g I W,

(i) TorEl T9g (@) °# W A = IH |,

awdll o ©Tfcdeh A&o § fohd Tehr for=ror grar 8 2

T I & foru swror G |

Jroqa

IR qdi A, B, C 3R D % THISAT § Seiaeiqi o1 i ieh 4 foato 8 YR 3
o6 37 axall % STRIAH IS § Solarel Sl TEAT SHUST: 1,3, 5 3R 738 | Yl
MEd ARt § § awal hl Tg (YU) T faf@u | B 3R D TR @
Sl fa=Im8 qem B 3R D % AW & o AMfieh 1 11fvesh g fafaw |

(a) List any three observations which posed a challenge to
Mendeleev’s Periodic Law.

(b)  How does the metallic character of elements vary on moving from
(1) left to right in a period,
(ii))  from top to bottom in a group
of the Modern Periodic Table ?
Give reason for your answer.

OR

The electrons in the atoms of four elements A, B, C and D are distributed
in three shells having 1, 3, 5 and 7 electrons respectively in their
outermost shells. Write the group numbers in which these elements are
placed in the Modern Periodic Table. Write the electronic configuration of
the atoms of B and D and the molecular formula of the compound formed
when B and D combine.

317211 6



i
17

18.

19.

20.
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(a) STREMYT T0h 1 ITAN H hl TATE F1 & 9l 8 ? FAR oA |
SN k1 SHHY & HRUT 14 1A T kT I8 3T IHRT Tk A0 forfigu |
(b) BHR IR H dfEeRT e fohH TohR THT od & 2 SRedT shifoig |

A
Saad fhd @gd 3 ? 38 uftaew wi feffa w0 & fau feedt wam 6
CIRCTRE|

T ST |
(a)  Why is the use of iodised salt advisable ? Name the disease caused
due to deficiency of iodine in our diet and state its one symptom.
(b)  How do nerve impulses travel in the body ? Explain.
OR
What is hydrotropism ? Design an experiment to demonstrate this
phenomenon.

(a) TG GEEATE A A § 2 T IgE G | ‘ o

(b)  “Torelt Tasma Ry 1 form @ s B 3R 34Uk fofu gl SHehi § &
foreft =1 Y Iater) 481 9 S Hehar |7 el § forr fgior = @i
Tt YATg 3TR@ h! TERIaT ¥ 38 %A 6l gfse i |

(a)  What are homologous structures ? Give an example.

(b)  “The sex of a newborn child is a matter of chance and none of the
parents may be considered responsible for it.” Justify this
statement with the help of a flow chart showing sex-determination
in human beings.

wwg@a%%ﬁﬁmﬁm@%awmmﬁgﬁa% ?
élafé'lEE\[ HIUTT ERIE IR SHERL é'aglgé
aﬂwﬁaﬁmaﬂﬁﬁsﬁ%ﬁ;%uﬁwwlw |

When do we consider a person to be myopic or hypermetropic ? List two
causes of hypermetropia. Explain using ray diagrams how the defect
associated with hypermetropic eye can be corrected.

(a) Tordlt ST <A1 Hgmar 4 319 I8 fses forg g Feprein T ford) Seh
g Jofisey A FAfaa 9 gfeiussl & 9i@y & Y 91 8 gHE 9
YaTted Bl 8 ?

b)) = fer U afgy w fEmr Hifve st afgy & s @9 i feafa |
gy ¥ gaifad 9 3R 15 Q & Sfauy & B0 w faver=m e Hifg |
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(a)

(b)

(a)

(b)

(a)

(b)

317211

T gfcige® Ry, Ry 3R Rg UI¥ashH § GAINIA & a1 Jg TS fohelt
sell, onfiet, dicediet 3R FHoil ¥ TIAINIG B | IUgFd U9 3@
Hifau i gfctierent o T9eH o e Tty & fore sereh uea hifs |

= fou U e @1 qed Ifatiy gitehfaa i

20 Q
10 Q VWV
A —AA—] B
AW
20 Q

How will you infer with the help of an experiment that the same
current flows through every part of a circuit containing three
resistors in series connected to a battery ?

Consider the given circuit and find the current flowing in the
circuit and potential difference across the 15 Q resistor when the
circuit is closed.

5Q 10 Q 15 Q

VWV VY VWA
+| —

| (.)

H“l \*)
30V

OR

Three resistors Ry, Rg and Rg are connected in parallel and the
combination is connected to a battery, ammeter, voltmeter and
key. Draw suitable circuit diagram and obtain an expression for
the equivalent resistance of the combination of the resistors.

Calculate the equivalent resistance of the following network :

20 Q
10 Q VWY

A — MW B
VWV
20 Q

(o]
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21. TrEl &fqS FEae ¥ TFaaq ToRd FhEl Y 9RETE ITeieh % RO 3o
Jraehid & @rsti @ Ued Eifuw | gfavas o fem faRew oft 3w
STIIERT &= [@red hit foun oifhd e # hifve | 3w Y w1ee § g IH W
foreht fomg W, &t grehr & freifea foren S 8, greshr & i ferar o
frE TR 9ftadH BaT B ? 379 TR i gfse o forw sro @R | 5

Draw the pattern of magnetic field lines produced around a current
carrying straight conductor passing perpendicularly through a horizontal
cardboard. State and apply right-hand thumb rule to mark the direction
of the field lines. How will the strength of the magnetic field change when
the point where magnetic field is to be determined is moved away from
the straight conductor ? Give reason to justify your answer.

T
SECTION E

22. Torslt foreges 3 forarmery <1 TTRIIRN ® B @ UHIEH o, Sid, g @1 ™,
Tifsam gEgioA HEHe 3R Afsam gEgiearss & o faerm e 3tk pH
g 3 UeIel % pH U T1d i o fote gt | forell &1 3 37 ugrerf & pH 9
HUI: 3, 12, 4, 8 3N 14 fo@ | 390 & HHA-E1 7 T TE ® 2 BRI §C
3Eh! Hel 7 T | 2

AT

IR fiehl H AT Tothe T TS SHT foeiaq w1 8 31 90 shAwT: Ugiatam,
HIR, AR IR Fop i weliwifly = 6 T ufeaf @ . & | o
30 Tie < uvaTq h1g BT 3194 w1 Yervr T 2 2

A teacher provided acetic acid, water, lemon juice, aqueous solution of
sodium hydrogen carbonate and sodium hydroxide to students in the

school laboratory to determine the pH values of these substances using
pH papers. One of the students reported the pH values of the given
substances as 3, 12, 4, 8 and 14 respectively. Which one of these values is
not correct ? Write its correct value stating the reason.

OR

What would a student report nearly after 30 minutes of placing duly
cleaned strips of aluminium, copper, iron and zinc in freshly prepared
iron sulphate solution taken in four beakers ?

817211 9 P.T.0.
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24.

25.

26.

forel el § 2 mL UHICH o ool 3UH Tk Yookl Hitedd gIEgH
HHe A W = Yo fhu Sid @ 2 39 YRl H B dret STtfshar
e gt fafE |

What is observed when a pinch of sodium hydrogen carbonate is added to
2 mL of acetic acid taken in a test tube ? Write chemical equation for the
reaction involved in this case.

feefioost it o1 STl S o TR =N 6 HHIR T R |

AT
T geueEh il 3= v § foret quIR Tmse o1 wleor s o uveEnq feReft
B 3 g T faepren o6 < 8 womge § e wohehifves Sffe @ fgmvea &
fafim =or qufe e & | 39 @ Jaon A fafge R smam WA frsed
ferehTett ST Weha B |
List in proper sequence four steps of obtaining germinating dicot seeds.

OR

After examining a prepared slide under the high power of a compound
microscope, a student concludes that the given slide shows the various
stages of binary fission in a unicellular organism. Write two observations
on the basis of which such a conclusion may be drawn.

T foamem ) v | Wi 1 90 R o fou feRdt o= & Tt @
STEARfl AU IR Hd gud fordl B g Stdl S It 9| araent
T ST |

List four precautions which a student should observe while preparing a
temporary mount of a leaf peel to show stomata in his school laboratory.

id 6T JIATHR Ifgeht (Te) o fohet Teh Heleh A U 45° o I T YA
A aTefl T fohtor 1 9 Rfad FifST | 39 3@ W (i) TUEdd i,
(ii) TATa I 3T (jii) uTfedes fazemam eifera hifm |
YT

HIE B NG H v S7gER foret e & 59 @ T arelt yehrer fomtor w1
T ITRAGT Al 7, T 39 NG I AT BIS ¢al & AR 3 AR off T8
LT | 38 NG I GER Wieeht T HIWT d91 30 W i, Le, £r IR D
3ifera hIfT |

Draw the path of a ray of light when it enters one of the faces of a glass
slab at an angle of nearly 45°. Label on it (i) angle of refraction, (ii) angle
of emergence and (iii) lateral displacement.

OR

317211 10
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A student traces the path of a ray of light through a glass prism as shown

in the diagram, but leaves it incomplete and unlabelled. Redraw and
complete the diagram. Also label on it /i, Ze, Zr and £D.

27. Tl ufmy o g2 vfligs & yarfga g 3K 38 il w favearw om@ 1
a9 ficfterdict 3R AiceHiet gRT guIT 7T qTd=iehi @ 3TIHN & :
(a) o Uil & IcUqHTS F AT 7§ ?
(b)  Sfaliees w1 Tfaue fohaar 8 2
200 2

100 300 X//ky*H+H+H+Hﬁg~£i\\

mA AV

The current flowing through a resistor connected in a circuit and the
potential difference developed across its ends are as shown in the
diagram by milliammeter and voltmeter readings respectively :

(a) What are the least counts of these meters ?

(b) What is the resistance of the resistor ?
200 2

100 300 X//£¥kH+H+H+HﬁHHii\\

mA Vv

817211 11
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SET-1
. @I .
Series JMS/3 code o, S1/3/1
T .
Roll No. ?%@%ﬁ T e

Candidates must write the Code on the
title page of the answer-book.

FUA AT WA TP IE-H I GGd B 11 2 |

TH-9F | gifed &1 il AR fu MU e TR S B IA-YREhl % @98 W
ford |

FHAT A B A Toh T AT H 27 T 2 |

AT T 6T I TT@T & T 8 Ugel, T &1 /AT Havd T |

3 YU hl UG o AU 15 e o1 wua feam mn R | S o foraw
gaiE § 10.15 St TR ST | 10.15 91 & 10.30 91 0% BT hadl T9H-T3 ol
TeT 3R 38 Al o gNH I IT-Yfedent T i IR &l fordw |

Please check that this question paper contains 11 printed pages.

Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

Please check that this question paper contains 27 questions.

Please write down the Serial Number of the question before
attempting it.

15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer
on the answer-book during this period.

fasm=

SCIENCE

FeiRa 77 : 3 T2 SfeHaTH 37 : 80

Time allowed : 3 hours Maximum Marks : 80

131/3/1 1 P.T.O.
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HTHTT (3597

(i)

(ii)

(i11)

(iv)

(v)

(vi)

(vii)

(viii)

34 J97-Y7 %1 Giel Y777, 3, &, G, ¢ 3N T H FieT T 3 | 9] @4 9T &
o] & IR forad & |

Tt go7 ST & |

YT &, &, 7 IR T & Jo9] A SaRe® 597 I T 8

YT 37 & Y97 G&IT 1 3K 2 TH-TF 3% & Y97 & | 398 I U Ieg 7Ial
T JFTH 378 )

T F & J97 G&IT 3 & 5 31-31 37hl & F97 & | 579 I TTHT 30 Jeg] i
F378 1

YT G & Y97 &I 6 & 15 AH-d17 37l & I3 & | 598 I TTHT 50 Jse)
JdH G 7 8 |

YT 7 % 97 G&IT 16 T 21 i9-9i9 37h] & I3 & | 598 I FTYHT 70 5!
Jdb § 378/

YT T 3 Y97 G&IT 22 G 27 FINTIHF FHI9eT T SR -2 371 & J97 8 |

5% G I T 8/

General Instructions :

(i)
(ii)
(iii)
(iv)
(v)
(vi)

(vii)

(viii)

The question paper comprises five Sections, A, B, C, D and E. You are to
attempt All the sections.

All questions are compulsory.
Internal choice is given in Sections B, C, D and E.

Questions number 1 and 2 in Section A are one-mark questions. They are
to be answered in one word or in one sentence.

Questions number 3 to 5 in Section B are two-marks questions. These are
to be answered in about 30 words each.

Questions number 6 to 15 in Section C are three-marks questions. These
are to be answered in about 50 words each.

Questions number 16 to 21 in Section D are five-marks questions. These
are to be answered in about 70 words each.

Questions number 22 to 27 in Section E are based on practical skills.
Each question is a two-marks question. These are to be answered in brief.
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SECTION A

1. et aered i Sega wfctigshar 1 aftam forfae | 1

Define the term electrical resistivity of a material.

2. Torsll WIas & QI Y@ ©cehl shi T TARY | 1

List two main components of an ecosystem.

qr
SECTION B

3. A i 1 B & ? A Ak W SraTen § fagq wen w9 W R 2 2

What are ionic compounds ? Why do ionic compounds not conduct
electricity in the solid state ?

4.  FER % IR AR forelt yam i gig # it fore TR 8™ Bd 3 ? 2
AYAT
dfest 311aT ford e & 2 Tohdfl Sfia & iR & e e oo fopeht afemt atmem
%1 fezm =1 3g@ HifST | 2
How do auxins promote the growth of a tendril around a support ?
OR

What is a nerve impulse ? State the direction followed by a nerve impulse
while travelling in the body of an organism.

5. TIT® IATHI 1 JUT el FA1 BT § 2 2
Why is the colour of the clear sky blue ?

e
SECTION C

6.  H*(aq) I < Higdl < foei@q 1 Thid T THE I 3@ HifT | FIT dR
ot & off Ht(aq) 94 810 8 2afe W 8, af T 3 el == g § 2 3

State the effect of concentration of H*(aq) ions on the nature of the
solution. Do basic solutions also have H*(aq) ions ? If yes, then why are
these basic ?

131/3/1 3 P.T.O.
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10.

11.

12.

@ g1t P, Q 3R R U, P ! Afshaar Q & 0 § 49T R sl @fshaar P 31 Q
gl O At 3 | HIE vE TRy gemse ek g P, Q 3R R Wl 3
Hel g3 |shAAT o HH H SASTEAT oA ST Hehell @ |

A
Hehll o 3T9Fh I AW faRau | Fgfctd TE FHIRT i TERIAr § Wendl
i 3G FIEh T TIsnia e it gfshan it samen Hifse |

Out of three metals P, Q and R, P is less reactive than Q and R is more
reactive than P and Q both. Suggest an activity to arrange P, Q and R in
order of their decreasing reactivity.

OR
Name the ore of mercury. With the help of balanced chemical equations,
explain the process of extraction of mercury from its ore.

“fenel TSR % fotu fopelt dwar w1 WHTY] ShHT 3W O o UTHTY] GEHM

HI g B e ITYH e T AT B 17 aw X (TH AT 13) H
ISR TR 38 e hi gfse i |

“Atomic number of an element is considered to be a more appropriate
parameter than its atomic mass for a chemist.” Take the example of the
element X (atomic number 13) to justify this statement.

e eF % IR HIE! hl gt IAEY | I IRK § g0 IRE=ior =i Aaweh
77

List four functions of the human heart. Why is double circulation
necessary in the human body ?

STl hl SRR ToraT FHl T 7RIS o [oRGUSH o Ti hl AT HiT |

Explain the ways in which glucose is broken down in absence or shortage
of oxygen.

aTfeTehl o &9 | ymfeassh 3R STAfCTSh o g fF faugTsrl deon 6 g=h
T |

List in tabular form three distinguishing features between cerebrum and
cerebellum.

fafafgd b samen i :

(a)  STfd-3gued
(b)  STehldeh ==

AT
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Hed | "X o WGl % @1 R MU WA § ¥ TH WA H A S a3
Fler e aret 7e & N it faftre foFemt =1 detor U= | 38 "R g Fy
R F, N § e didi % A % Y&l 1 SR Higd Ig@ T | e S
o Afdfs Hued gra g o o 3w e u foRedl @ fawafelt (foepedt)
AU AT TeX o et shi g oft SIS | 3
Explain the following :
(a)  Speciation
(b)  Natural Selection

OR

Mendel, in one of his experiments with pea plants, crossed a variety of
pea plant having round seeds with one having wrinkled seeds. State
Mendel’s observations giving reasons of F'; and Fy progeny of this cross.
Also, list any two contrasting characters, other than round seeds of pea
plants that Mendel used in his experiments.

13. SO (9dd fordl shgd @ 2 AHifehd 3@ <hl AT © gredl shifoiw fom
ety # fe@rg o arel et A <l et sueht aredfess feufa & it B | 3
arera
He § JS forell BT Fl I8 TH Fd Had ¢ b 98 Mehege Av @ fifea 2 259
T o QI HRON h G TARY | TR 3@ T ITAN Heh A7 h 9 N h
TN o 3T 6T AT HIfT | 3

What is atmospheric refraction ? Explain with the help of a labelled

diagram that the position of a star as seen by us is not its true position.
OR

When do we consider a student sitting in the class to be myopic ? List two

causes of this defect. Explain using a ray diagram how this defect of eye

can be corrected.

14. 3 Q a1 drdl S g sEC g  FeliehoiE A € | 379 =A<l gfee
R | F A T E TG g A T § 2 e I 1 g % R @)
ST I g FET | 3
Name two energy sources that you would consider to be renewable. Give

justification for your choices. Can these energy sources be pollution free ?
List two reasons in support of your answer.

15. o & “Sa fafauar w1 fafrse Ta@” =& 79 STar g 2 a4 6 SE o o
IR 34T TS | 3
Why are forests considered “biodiversity hot spots” ? Suggest four
approaches towards the conservation of forests.

131/3/1 5 P.T.O.
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16.

17.

(a)
(b)

(a)

(b)
(c)

(a)
(b)

(a)

(b)

(c)

(a)

(b)

(a)

(b)

317311

W
SECTION D

feforemom rfufsren fordt waa 2 2 forelt SeTewor wfea samen Hifs |
et sfiet o o It Rt e ot g1 =1 < 3o " fires e R
() B arel srfufsean o 9m 3t Sgehl gftam fefley |
(i) 3T ATufRa 1 Fgfora TEET AHIRET R §94 9Tel 341G

&1 qEfe am fafgu |
(i) 39 AT & &1 yg@ Jeon i T SR |

BPC]

e AEde H rumed (forom) arfufsran 1 freffa @ & fog ferdht
foramererTa 61 31firhedaT FifST |
TN SAFET ST AHIfhd TG Tiaht g Tg@ Il shi gl ST |
HAfvepriss 3R Icargl 1 Wifoeh faee H1 IP@ Hd FL BH A
arffsran w1 Tgfera Tamfie T fafen |

What is a double displacement reaction ? Explain with an example.

A small amount of quick lime is added to water in a beaker.
1) Name and define the type of reaction that has taken place.

(i1))  Write balanced chemical equation for the above reaction and
the chemical name of the product formed.

(111) List two main observations of this reaction.
OR

Design an activity to demonstrate the decomposition reaction of
lead nitrate.

Draw labelled diagram of the experimental set-up. List two main
observations.

Write balanced chemical equation for the reaction stating the
physical state of the reactant and the products.

Y% b ot THEte i foeet weedisr 3R HTeHieht
srfufspanati & = fades Hifsw |

e hi warmeen # foREl TR T 9941 e & fu Shig TRty
fafgu |

Distinguish between esterification and saponification reactions
with the help of chemical equation for each.

Write an activity to show the formation of an ester in a school
laboratory.
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19.

20.

(a)

(b)

(a)

(b)

(a)
(b)

(a)
(b)

(a)
(b)

(a)
(b)

(a)

(b)

(a)

(b)

3131

S Rl e § 2 36 3 TR B g e |
TR Sl 3 SRR S § S e e SR
Bt & 2

AT

<ifireh G T (STD) 91 Bid 8 2 & Sy Sifa 3 & arE dshiia
iR F=ia Wt <Al T TA1ET |

T Ty fRE SEd 8 2 T MUY U i ST9A % diF RO <l =
ERIE

What is reproduction ? List its two types.

How are the modes of reproduction different in unicellular and
multicellular organisms ?

OR
What are Sexually Transmitted Diseases (STD) ? List two viral
and two bacterial STDs.
What is contraception ? List three reasons for adopting
contraceptive methods.

THAA gduIl T o Sfdferst & =R afieret < gt SIS |
ﬁ5cmﬁﬁm30cm®w@%%ﬁwm@200m@
R foud 2 | g0 g9 1 I e o4 arel Sidters 6l feafa sk
arew fgifia HiT |

List four characteristics of the images formed by plane mirrors.

A 5 cm tall object is placed at a distance of 20 cm from a concave
mirror of focal length 30 cm. Use mirror formula to determine the
position and size of the image formed.

Ry, Ry 3R Ry Ufewiei & o9 ufalierss (i) Sofisem ®, q9 (ii) urveishy o
gafd 8 |9@$Wﬁ@ﬁ%§wqﬁﬁa%mm%ﬁq’ql
12 Q & < Ha9d Yfawss 3V <hl fordlt 9t ¥ gaifva & | f=am
gy 3R Afgehay ufeiy o aftomdft T9ieHl gra Uy SRRl o
AT INEhIcTd hIMTT |

St

TETE P 3R ATIEI-FIE FABA ‘A’ o AIHR h{d o TRl =Tereh
% gfeiy MR 3ueh ugrd i dgd Ifeiveha & s gay fafae | 3@
TehT IEd faiegehdl &1 S.I. A Scad i |

5m o fREl a1g & ar @1 gfag 100Q B | AR TW AR A
IITY-HIC HT &% 3 x 107 m? B, a1 &g il Ifatrerehar qierford
HIT |

7 P.T.O.
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21.

22.

(a)

(b)

(a)

(b)

(a)

(b)
(a)

(b)

Three resistors of resistances R;, Ro and Rg are connected (i) in
series, and (ii) in parallel. Write expressions for the equivalent
resistance of the combination in each case.

Two identical resistors of 12 Q each are connected to a battery of
3 V. Calculate the ratio of the power consumed by the resulting
combinations with minimum resistance and maximum resistance.

OR

Write the relation between resistance and electrical resistivity of
the material of a conductor in the shape of a cylinder of length ‘’
and area of cross-section ‘A’. Hence derive the S.I. unit of electrical
resistivity.

Resistance of a metal wire of length 5 m is 100 Q. If the area of
cross-section of the wire is 3 x 10~/ m?, calculate the resistivity of
the metal.

Torell ThuTT IrEhi &9 T & o oredq e gRETel € @Tetsh g
Iya fopu I aTet st i feem fgifa & art fm &1 9w s fem
fafeT |

foIq Hiet 1 HIfohd 3TR@ W |

Name and state the rule to determine the direction of force
experienced by a current carrying straight conductor placed in a
uniform magnetic field which is perpendicular to it.

Draw a labelled diagram of an electric motor.

IR
SECTION E

1 SRl H B Hohe o faersd W § SR T Tk H IO ol Wl SR g H
tqfufem < ot STe % AT 1 Hue % geTd @ Yo g 2 A W H w
Uierde IR ST g, df 8 arefl rfufsee o Am qen Afifsear 1 wEmafe
grtertor oft fafau |

AT

g B B Tohe fohteat oo forgven (fornem) ifufsean &1 srem e

ITEdT & | 39 YA hl hid 99T 3Teh gl Sdl ST a7l e Fraant=ar fafay |

2
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23.

24.

What is observed after about 1 hour of adding the strips of copper and
aluminium separately to ferrous sulphate solution filled in two beakers ?
Name the reaction if any change in colour is noticed. Also, write chemical

equation for the reaction.

OR

A student wants to study a decomposition reaction by taking ferrous
sulphate crystals. Write two precautions he must observe while

performing the experiment.

THTgeh 3TFet o el fqu MU T[uremt 1 31eeH Shid Tud o119 o1 fsep fepretnt

3Rl gl 8T ¢

(a) WY

(b) & H focmar

(¢ Torem® w3 @ ywma

(@) Tfsam gEgion S & oy rfufsen

List the conclusions you will draw while studying the following properties

of ethanoic acid :

(a)  Odour

(b)  Solubility in water

(c) Effect on litmus paper

(d)  Reaction with sodium hydrogen carbonate

fpeft B A “zama & sy # CO, Fiadt 7 il awia & faw Sush
A L T g | T 1 992 o 99ETq 98 Heht et § St @ ad H his
T &l UTAT | TR <l TFheTdl o & FHTIfd HRur fAfe |

A student has set up an apparatus to show that “CO, is released during

respiration”. After about 1 hour he observes no change in the water level
in the delivery tube. Write two possible reasons for the failure of the

experiment.

9 P.T.O.
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26.

TgT T T8I0 R o fou o<l o et @1 37 ]
B S o I(dNTh & 3T gal ol 3TN hid & | 39 gal o A1 fafgy 31T
3g@ T T I ga o 3 =41 39T fopy I1d B |

AT

3 =R gEgrE Hi 3t wE # g Ss S 9eq g9 Uit o foesh @
SRRt STRIYUT FIR i THT HLd 7 |

In the experiment of preparing a temporary mount of a leaf peel to
observe stomata, we use two liquids other than water. Name these two
liquids and state when and why these liquids are used.

OR

List four precautions in proper sequence which we observe while
preparing a temporary mount of a leaf peel.

fopelt qreyr fovar w1 wftifers STH teh QU TTQ S7ade Ul shi Hiefehe BiehE gl
i T o T i A hI 9 6 =0T H HEER g R |

AT

Toreft ®F &1 UAH i & IR fofye 7 & T ®E & IEdeR w9 9
TR aTeft ehrer feRtur 1 9 STRRad T 7 |

(a) 39 AT I & HEw ol HradTi-i i et SISy |
(b) 38 TN W YTNG B gRT THehlet U ¢ skt <hl Ft ST |

List in proper sequence the steps of the experiment for determining the
approximate focal length of a given concave mirror by obtaining the
image of a distant object.

OR

A student has to trace the path of a ray of light passing through a
rectangular glass slab for four different values of angle of incidence.

(a)  Write two important precautions for this experiment.

(b) List two conclusions the student will draw based on his
experiment.

10
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27. 3RW@ H WU 7Y dicediet o duH W fa=m hifvy it fa=fafad goi o 33
T

15
0 3.0
\Y4
(a)  dlceHIEX T 3TeUdHTeh 941 8 ?

(b)  dlccHIeX I IISATh o1 & 2

(c) Ife I8 dicedier frelt 20 Q & fdtiass & &0 @ gaifea 8, @ gfalys
g fora) g yenfed 21 @@ 2 2

Consider the scale of a voltmeter shown in the diagram and answer the
following questions :

1-5

\%

(a) What is the least count of the voltmeter ?
(b)  What is the reading shown by the voltmeter ?

(c) If this voltmeter is connected across a resistor of 20 Q, how much

current is flowing through the resistor ?

131/3/1 11
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SET-1
i Cack
Series JMS/4 cos - 31/4/1
e .
Roll No. ?%@%ﬁ TR 5 FE

Candidates must write the Code on the
title page of the answer-book.

FHRIT A= B A Toh 30 T H Glgd I8 15 2 |

TH-9T § qfed 719 hl AR fu MU wiE TR w B SW-YETH 5 GE-I8 W
ford |

AT S H o o6 W IH-IF W 27 T 7 |

AT T 6T I TT@T & T 8 Ugel, T &1 /AT Havd T |

T YHE-IS Wl Yed & fow 15 fide = gy fewr mn 2 1 wH-wm & faa
gaiE § 10.15 St TR ST | 10.15 91 & 10.30 91 0% BT hadl T9H-T3 ol
Ut 3T 30 31afY o A o ITR-YFederT W hig I T8l fore |

Please check that this question paper contains 15 printed pages.

Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

Please check that this question paper contains 27 questions.
Please write down the Serial Number of the question before
attempting it.

15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer
on the answer-book during this period.

fasm=

SCIENCE

FEiRa 77 : 3 T2 SfeHaTH 37 : 80

Time allowed : 3 hours Maximum Marks : 80

31/a 1 P.T.0.
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HTHTT (3597

(i)
(ii)
(iii)
(iv)
(v)
(vi)
(vii)

(viii)

39 Y9797 ! qid YT, 3, &, &, T K T F Fier 7= 8 | 3779H @Ht 9rn & e
% I forgd & /

Tyt go7 s7Hard & |

YT &, &, 7 3R T & Jo9] A SaRe® 597 I T 8

YT 37 & Y97 &A1 1 3K 2 Uh-Uh 3 & Yo7 & | 59% IH Ueh Ioq 37Yal Th
FIFTH 378/

YT § & 97 G&IT 3 @ 5 G1-51 37hl & I97 3 | 599 I T 30 Feg] JIF H o7
g/

YT G & J97 G&IT 6 & 15 T7-17 371 @& J97 & | 379 I TTHT 50 Jegl Jeas 7
g7 8 |

YT T & Y97 G&I7 16 G 21 Gie-9ia 371 & 97 & | 599 FK FIY9T 70 Fec] G
H378 1

YT T & J97 G&IT 22 & 27 JIITIcHE FHIT T SERT 21-31 3H & J97 & | 59
Giered 3o a7 8 1

General Instructions :

(1)
(i)
(ii1)
(iv)
(v)
(vi)
(vii)
(viii)

The question paper comprises five Sections, A, B, C, D and E. You are to
attempt All the sections.
All questions are compulsory.
Internal choice is given in Sections B, C, D and E.
Questions number 1 and 2 in Section A are one-mark questions. They are to be
answered in one word or in one sentence.
Questions number 3 to 5 in Section B are two-marks questions. These are to be
answered in about 30 words each.
Questions number 6 to 15 in Section C are three-marks questions. These are to
be answered in about 50 words each.
Questions number 16 to 21 in Section D are five-marks questions. These are to
be answered in about 70 words each.
Questions number 22 to 27 in Section E are based on practical skills. Each
question is a two-marks question. These are to be answered in brief.

HOT A

SECTION A
gty Y gfdmar e 3R 35eRT S.1. 9 fafgu | 1

Define resistance. Give its S.I. unit.
W TRl @ a1 AW fafay e st O ge & dfemm (sAW) |
fopan SmaT ® 1

Name any two elements that are used in fabricating solar cells.
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Ian o
SECTION B

3. YR o YUedd & 4w fafau 2

HAAAT
e SvadHTe 6t g fofaT ofR 38 TN €9 § =¥ea il | 2
State laws of reflection of light.
OR
Define absolute refractive index and express it mathematically.
4. Tt B g & IR SR R 8 W@ S | 2
Draw magnetic field lines around a bar magnet.
5. O BT § W& fREl WEdelt # W H N Yehigiadl (MoHTA) § s
Hh 5% AT WREm wHTe foeeH fiemen St 8 2 vt gt 6
YRl O 1T hifNT | 2

What happens when 5% alkaline potassium permanganate solution is
added drop by drop to warm propyl alcohol (propanol) taken in a test
tube ? Explain with the help of a chemical equation.

e
SECTION C

6. Shawm w8 ? SHaremi it oy fuftor s S @ fafem & @@w d qu
HIT | 3

What are fossils ? Describe briefly two methods of determining the age of
fossils.

7. A % [USH @ TERA 900 799 YT o fO&I90T 1 A1 HROT & ? T gE b
Uy Tk 919 3Iod! foufd § g @ 9dewq i & UsAl & fhHl B W)
feieha: Tfad Yoid YehIeT o WEH 99 o 99 Wl QU o ToC fohul 3@
Hifa | 3

arerat
TRTST ST TEhIO 3T & 2 38 TICEISAT 1 STANT Shieh SRS hifere Fh (i) F@ie
% T FF @AW R YA g g, a9 (i) Tes TR e ®&It Wdid g
g 3

31/a 3 P.T.0.
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What is the cause of dispersion of white light through a glass prism ?
Draw a ray diagram to show the path of light when two identical glass
prisms are arranged together in inverted position with respect to each

other and a narrow beam of white light is allowed to fall obliquely on one
of the faces of the prisms.

OR

What is scattering of light ? Use this phenomenon to explain why (i) the
Sun appears reddish at sun-rise, and (ii) the clear sky appears blue.

8. (a) Timfafaa srfufsranett o fafim yori & arfiertor hifsre
(i)  AgNOs(aq) + NaCl(aq) —> AgCl(s) + NaNOs(aq)
(i)  CaO(s) + HoO(l) —— Ca(OH)y(aq)
(i) 2KClOs(s) —2— 2KCl(aq) + 304(g)
(iv) Zn+ CuSO4 —— ZnSOy4 + Cu
(b) Tr=fefgd s =t dqfora TS i & 9 § UG HINT

“afem @i, tgfutam gohe @ i ws Ueifem soss
R 9T Hothe AT 2 17

AT

J9 fope WEell § ol (1) A8 1 foetay oieht 390 IR STRIeEs i
T faema &, 9 S 198y 99aT B |

(a) 39 STFEY 1 FAT U1 21 8 ? @&TUq Afeh 1 9 foAfam |
(b) 39 ATk &1 Tgfcta TETTS Tiehtor fafean |

(c) affshan o 3 < Wil 1 gt sARy od 38 stfufsean i war =
Tl & |

(a)  Classify the following reactions into different types :
1) AgNOs(aq) + NaCl(aq) —— AgCl(s) + NaNOg(aq)
(i)  CaO(s) + HoO(l) —— Ca(OH)y(aq)
(i) 2KClOs(s) —2— 2KCl(aq) + 304(g)
(iv)  Zn+ CuSO4 —— ZnSOy + Cu

31/41 4
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(b) Translate the following statement into a balanced chemical

equation :

“Barium chloride reacts with aluminium sulphate to give

aluminium chloride and barium sulphate.”
OR

When potassium iodide solution is added to a solution of lead (II) nitrate
in a test tube, a precipitate is formed.

(a) What is the colour of this precipitate ? Name the compound
precipitated.

(b)  Write the balanced chemical equation for this reaction.

(c) List two types of reactions in which this reaction can be placed.

9. (a) Yeideh JarREl 6 FEih gwE T@ A A Tofh Sestasmarsi i
raftr qerg 1 srrawarehdn gt 7 | =i 2

(b)  3TIHEH FAT & ? AfG Torelt TTRT & Tq=reshi o1 qUf &9 & I L ez
ST, T 3ehT ST IO BT 2 379 3T o Tmed § gfse Shifvw | 3
AT

JIAVSA o IAW T W AH fhH TR It B ? 3Hh Wed hl 3g@
HRT | 3896 38 F U S TSR 2 2 AFEITW F TH B IWE
fafeT | 3

(a) Natural water bodies are not regularly cleaned whereas an
aquarium needs regular cleaning. Why ?

(b) What are decomposers ? What will be the consequence if the
decomposers are completely eradicated from an ecosystem ? Give
justification in support of your answer.

OR

How is ozone formed in the upper atmosphere ? State its importance.

What is responsible for its depletion ? Write one harmful effect of ozone

depletion.

31/a 5 P.T.0.
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10. -gfedt 1 wem 3 & foru eferen foreft vora urset o1 3um htd € |
(a) 39 UISEL I 919 R Tt g7 foafeaw |

(b) 3 YRS ! fhH YhR SR JTaT B 2

(c) 19 39 Yod IS i UHI o &1 AT M1 &, I Th Hak 3™ Yvg T
BIAT 3 | 39 Ui o o dgferd Temifes gefenn fafEu |

(d) 39 39d YIS I his Uk 3T 39 fafigu |

A white powder is used by doctors to support fractured bones.

(a)  Write the name and chemical formula of the powder.
(b)  How is this powder prepared ?

(c) When this white powder is mixed with water, a hard solid mass is

obtained. Write a balanced chemical equation for the change.

(d)  Give one more use of this white powder.

11. foggqueh qfs o aR sl I3 Fusel fohet Headrder @ waifva 8 | 1 g S
forelt yoa B graeh i
(a) FUsell o Ha geher M@ 2
(b) ~ FHUSHA! § ST ATAT SATC ?
(c) FPpusal o it feer @ smem 2
T JeuT <kl R Ffga gfse HIfT |

A coil of insulated copper wire is connected to a galvanometer. What
would happen if a strong bar magnet is

(a)  pushed into the coil ?
(b)  withdrawn from inside the coil ?
(c) held stationary inside the coil ?

Give justification for each observation.

12. (a) W4T IMER 91 ° F=faiad & s fafiaw
(i) R (A W)
(i)  AHR™ # HCI
i) T @
(iv) @& UH
31/4/1 6
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(b)

(a)

(b)

13. (a)

(b)

(a)

(b)

fafafaa womsal @ g 1 T S fafge
G  ufem
(i)  TEUS 3

Write the function of the following in the human alimentary canal :
) Saliva

(ii))  HCl in stomach

(i11)  Bile juice

(iv)  Villi

Write one function each of the following enzymes :

(1) Pepsin

(i1) Lipase

wTed (i) B dfe  TE A, fe ofl, af B R daeeier Tew
! T R 7, dF 3Gh! aferR H V0T S I qiEdd Bid @ | SaTedl
SHIfT foh I8 UTgU STRI LU o Y fohH ThR IfhAT hial B IR T
sk fohe Wb T Bt ® |

39 g o1 A fafae et Feafafad o fean sman 2

() felt S o e § gty % o |

(i) ol R Sl H ifveRt fawrsm &1 g e & o | 3
Plants do not have any nervous system but yet, if we touch a
sensitive plant, some observable changes take place in its leaves.
Explain how could this plant respond to the external stimuli and
how it is communicated.

Name the hormone that needs to be administered to

1) increase the height of a dwarf plant.
(i)  cause rapid cell division in fruits and seeds.

14. 39 ffayar fpa wgq @ 2 91 =1 “S9 fafaygar & foau fafsme woa” w1 g

AT 8 ? SHIE o TolC STERT 31 hiehi i Fi I9ET | 3

What is biodiversity ? Why are forests considered as “biodiversity hot
spots” ? List two factors responsible for causing deforestation.

15. dfshrar Joft & ged SR o arqett & fasedur 6t fafy, afserar soft & aex
H e argatt o fseedu 61 fafy @ form yoer fira B 2 3o6 forw oft s wfsean
FI TR TR ST g ? 37 9Tq3T o RN sh AfshaT w1 9 fIRa | 3
How is the method of extraction of metals high up in the reactivity series
different from that for metals in the middle ? Why can the same process

not be applied for them ? Name the process used for the extraction of
these metals.

31/a

7 P.T.O.
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SECTION D

16. (a) TEOHU IR AgHHw Afufhaet & =, g% & o gt
wefiertort R gEmEar 4, faved Sif |
(b) THIfhd NG o Y TEL o9 o UTeh [hAThed hl &Y H UM
i |

AT

gTg 3R 9Tl H o1 3= 7 ? Fohell a6 W ol ToreheTs o el &l g |
T <l AHTS Tk 1 489 § Ig@ HINTT | 9 IET Sl 3K T § GHT gl
8, O T 1 ITANT Sgd I FAT AG1 BT ? 3 THET H1 THEH 8 TR
ToRer ST B 2

(a)  Distinguish between esterification and saponification reactions

with the help of chemical equations for each.

(b)  With a labelled diagram describe in brief an activity to show the

formation of an ester.

OR

What is the difference between soaps and detergents ? State in brief the
cleansing action of soaps in removing an oily spot from a fabric. Why are
soaps not very effective when a fabric is washed in hard water ? How is
this problem resolved ?

17. IS SATR 3709 F1 & 50 cm § A g hT IEqeii 1 T8 TE T@ U |
(a) 39 AT % gfee W o1 W fafaw o 3@ g & o Gwrfad wron 6t
T S |
(b) 3T ThLUT | ¥ ol g o foTu foptur @ Eifam |

(c) 39 ¥ & GMYT & AU 3T g I fohU I 91 A8 1 THhR
faRgu 3t sEeht e uiteferd $ifse | 7= <fifSe f6 w99 =
ﬁwﬁlﬂﬂicmél

(d) ST TRl | gfed I o TG oh fOIQ AWIfha TR@ T |
131/4/1 8
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A person is unable to see objects distinctly placed within 50 cm from his
eyes.
(a) Name the defect of vision the person is suffering from and list its
two possible causes.
(b) Draw a ray diagram to show the defect in the above case.
(c) Mention the type of lens used by him for the correction of the

defect and calculate its power. Assume that the near point for the
normal eye is 25 cm.

(d) Draw a labelled diagram for the correction of the defect in the
above case.

18. (a) 3Afg foreht awa o1 Solaeiies fa=am a2, a1 SHehl TISTehdT fohT bR
frgif@ &t I & ? 39 a i GAISEhdl Hgiia HifSe e 9w
SHUTH 97 |

(b) = sygfies sTad arelt % $© aw@ T T E | 39 q@ T WA AT
shiseeh 1 faar e B
A(4), B(9), C(14), D(19), E(20)
() Sk fawITE o FemEdT § §d HiT 6 30 & fhe a9 &
STEId <hIT H Teh Seiereiq B |
(i) HH-9 q T T9H T () & ? AT W b THLT H BRI
B
(iii) IUYFT A<l H G AN A b {ohd T h! THATUh B 5t 7
IR A 2 5
(a) How is the valency of an element determined if its electronic

configuration is known ? Determine the valency of an element of
atomic no. 9.

(b)  Given below are some elements of the Modern Periodic Table.

Atomic numbers of the elements are given in parentheses :

A(4), B(9), C(14), D(19), E(20)

(1) With the help of the electronic configuration, find out which
one of the above elements will have one electron in its
outermost shell.

(ii1) Which two elements belong to the same group ? Give
reasons for your answer.

(iii)) Which one of the above elements belonging to the fourth
period has bigger atomic radius and why ?

31/a 9 P.T.0.
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(a)

(b)

(a)

(b)

(a)

(b)

31/411

fora wifea <t aftwmr dfSg | Sieear v & @ & ol @ @9 R
gy o1 1$ forgq @lRE g Toar @ | g 3 iy & wdi § wfed
% foru =iereh =geae i |

100 W; 220 V 3R 60 W; 220 V TJHdT o & ToEq S 919d § 220 V
% foagd 79 9 9Afd & | Sodl g 59 | off Tl 9 91 i |

HAAT

Toret s <Al "ERdT ¥ A9 I8 Ry forg yeRr femreitt fok v diee
forelt St @ 2ofishn o TafSra @ gfatieshi Ry, Ry 3R Rg % INUY &
Jcdeh YT 8 gHH 9 JdTed aldl @ 2

Fra feu e uftuy o1 3reeeE W, fEfaiaa 3 Hifse

i) 12 QUfgs & yaTEd 9 |
(i) Aq 3 A, % TSI # =R, AR 1S 8 |

24 Q
LS
T gV %129
T
S

Define electric power. An electrical device of resistance R is
connected across a source of voltage V and draws a current I.
Derive an expression for power in terms of current and resistance.

Two electric bulbs rated 100 W; 220 V and 60 W; 220 V are
connected in parallel to an electric mains of 220 V. Find the
current drawn by the bulbs from the mains.

OR
10
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(a) How will you infer with the help of an experiment that the same

current flows through every part of the circuit containing three
resistors Ry, Rg and Rg in series connected to a battery of V volts ?

(b)  Study the following circuit and find out :
) Current in 12 Q resistor.

(i1))  Difference in the readings of A; and Ay, if any.
24 Q

Cap 8

+
T gV glzg
T
&)

20. (a) IR JadA i aiam foafee | saeht @ fafet s = ST |
(b) S TR & UIEUl sl ITH o foTw 38 Taem =1 3w = foharm Sfram g 2
(c) HIfehd ARWI I TEEAT § eI H Gpod hl Ufsham i =

ili\an 5
sreraT
iy ford had 2 2 gweh! 9w fafia faftrer 6 g=ht s | it gt
A & IR G99 HRor faafEy | 5

(a)  Define vegetative propagation. List its two methods.
(b)  Why is this mode practised for growing some types of plants ?

(c) Explain the process of budding in Hydra with the help of labelled
diagrams.

OR

What is contraception ? List its four different methods. State four reasons
for adopting contraceptive methods.

31/a 11 P.T.O.
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21. (@) WA % H Y WA ¥ ¥ @R < 9 agen Hi g sEe S
ALY Hed 4 379 TA | fomam o | Hed o T g hd Udl Il
op o1 g} SFrEm ST BId 8 2

(b) AT I hl TEEAT § Y Ig Hd TAUG Ul fb d@d § fopelt
TSI T o fog[g 9 & A 94 g AR Aa-fuar § 9 feeht @t o,
FaTd o foret fomre formm o fotu, Sorerft =& amn < wehar 8 2

(a)  List two visible traits of garden pea that Mendel considered in his
experiments. How do Mendel’s experiments show that traits may
be dominant or recessive ?

(b)  With the help of a flow diagram, how would you establish that in
human beings the sex of a newborn is purely a matter of chance
and none of the parents may be considered responsible for a
particular sex of a newborn child ?

qma
SECTION E

22. hiE B JNIH FANEE USS H HifeIH Tcthe IS Haar & | 31 a1 uIssy
H fa™ W 98 B T IiEad I ST ? 30 IR hI gfee Hifw 31
=T hifoe for a7 aifed uftads fore TR UTeq T HehdT B |

HAAAT
(a) frAfaRed agsti # I AGRTIGA & ARE (Jgd) WA |
Wﬂﬁ%ﬁﬁ?:
I, T, Tl qen st
(b) HIR Fohe faeeH # dg 1 W e & 30 fie & wvemq stot
AIegs § getag fRT I el 31 J&vl i = 41T |

A student mixes sodium sulphate powder in barium chloride powder.
What change would the student observe on mixing the two powders ?
Justify your answer and explain how he can obtain the desired change.

OR

(a) Arrange the following metals in the increasing order of their
reactivities :

Copper, Zinc, Aluminium and Iron
(b) List two observations you would record in your notebook
30 minutes after adding iron filings to copper sulphate solution.

31/411 12



00}
55
23. I3 faoE X pH 9 W 3Weh! hI3 8¢ TR W TR0 T <41 g, Faih Hig 314
faeraq v’ pH v W 38T g TR 92 goeht el T1 a1 2 | 39 gl foerAt i
TR 1 7 2 X AR Y Tl o pH Faifa i | 2
A solution X’ gives orange colour when a drop of it falls on pH paper,
while another solution Y’ gives bluish colour when a drop of it falls on pH
paper. What is the nature of both the solutions ? Determine the pH of
solutions X’ and Y.

24. Ffaflaa forw sm@ 1 steged AN R 38 Eie ° 3 g i T @
FfeAt &1 = ST | forw AB i fRufa % dggEy s a9 wfdfers 6l
aredfaess feafa o T1ss i gurid o fow @ fopwor om@ e 3 Fieai =t
Tenfea HfT | 2

A
F, 2F,

oF; B F, O

AT

forelt B 1 forelt wia o 5w @ Tora areht fomor 1 9o omRfEd & 7 |
318 INUIH T i o folC 3Heh g Sl S aTell IR draenf-=i 6t gt
SHTST | 2
Study the following ray diagram and list two mistakes committed by the
student while tracing it. Rectify these mistakes by drawing the correct

ray diagram to show the real position and size of the image corresponding
to the position of the object AB.

A
F, 2F,

oF; B F, O

OR

A student has to trace the path of a ray of light through a glass prism.
List four precautions he should observe for better results.

31/a 13 P.T.O.
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25. foreft ufeioss o i W favarm &t w8 yarfgd faga g w fofa &
A HH o e feferfiad sia-e sgecen (viwe) @d 2 i = 2

+ —
+ + +
HHH= HHH= HHH=
A B C
Which one of the following is the correct set-up for studying the

dependence of the current on the potential difference across a resistor
and why ?

)=
R R
L o
valgina I e IS,
J N J R
%%HHJ éé—*HH"—(J e
A B C

26. ‘gl = A & foru et it <hi forgt o1 STeemft 1w dam s J=n Y
fafer o spHeR 9 = fafgu |

J R
=
D

J B
—HHH =
D

AT
“SIPa BId SIS e SEATIAEE BISd &, IH QUM hl JUHINGh el &
Fefea fffad ge & I T
() B9 VAR FATh ol dTIeg F1 T&d & ?
(i) YFEThR FoIh & i W B Waqell ¥ W AW et ggrd 1 am
3R 3ITh! YfirRT TAfau |
(Gii) T Ff 4 9t SR F= =g A @ 2
Write four sequential steps of the procedure of the experiment “Preparing
a temporary mount of a leaf peel to show stomata.”

OR
31/411 14
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27.

In the experimental set-up to show that “the germinating seeds give out
carbon dioxide”, answer the following questions :

) Why do we keep the conical flask airtight ?

(ii1) Name the substance kept in the small test tube inside the conical
flask. Write its role.

(iii)) Why does water rise in the delivery tube ?

37 2 Jeguni 1 G ST ek SMgR W I8 fshy ekt S wek fob @ it
TTss e | fogued awidl 8 |

List two observations on the basis of which it may be concluded that the
given slide shows binary fission in Amoeba.

31/a 15
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SET-1
. wE .
Series JMS/5 code o 31/5/1
T .
Roll No. ?%@%ﬁ T e

Candidates must write the Code on the
title page of the answer-book.

FON AT R AR IA-FTHICAIE 15 7 |

TH-9T § qfed 719 hl AR fu MU wiE TR w B SW-YETH 5 GE-I8 W
g |

AT S H o o6 W IH-IF W 27 T 7 |

FUAT T 6T IW TT@T & W 8 Ugel, T 1 hATH Aavd o |

I YU H U W U 15 fiee w1 wm fom mn @ | weAuw W faa

gaiE § 10.15 St TR ST | 10.15 91 & 10.30 91 0% BT hadl T9H-T3 ol
Ut 3T 30 31afY o A J ITR-YFedehT W hig I T8l fore |

Please check that this question paper contains 15 printed pages.

Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

Please check that this question paper contains 27 questions.
Please write down the Serial Number of the question before
attempting it.

15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer
on the answer-book during this period.

fasm=

SCIENCE

FEiRa 77 : 3 T2 SfeHaTH 37 : 80

Time allowed : 3 hours Maximum Marks : 80

31/5/1 | 1 P.T.0.
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HTHTT (3597

(i)

(ii)

(i11)

(iv)

(v)

(vi)

(vii)

(viii)

34 J97-Y7 %1 Giel Y777, 3, &, G, ¢ 3N T H FieT T 8 | 3719l @4t 9rn &
o] & IR forad & |

aut g7 sfHar & )

YT &, &, 7 IR T & Jo9] A SaRe® 597 I T 8

YT 37 & Y97 G&IT 1 3K 2 TH-TF 3% & Y97 & | 398 I U Ieg 7Ial
TH FET H e E |

T F & J97 G&IT3 & 5 31-31 37hl & F97 & | 579 I TTHT 30 Vo] Tdh
F378 1

YT G & Y97 &I 6 G 15 FH-T7 3H] & J97 & | 398 F T 50 Fee]
JdH G 7 8 |

YT 7 & J97 G 16 G 21 ia-9ie 371 & J97 & | §4% IR TTHT 70 Jed]
Jdb § 378/

YT T 3 Y97 G&IT 22 G 27 FINTIHF FHI9eT T SR -2 371 & J97 8 |

5% G I T 8/

General Instructions :

(i)
(ii)
(iii)
(iv)
(v)
(vi)
(vii)

(viii)

The question paper comprises five Sections, A, B, C, D and E. You are to
attempt All the sections.

All questions are compulsory.
Internal choice is given in Sections B, C, D and E.

Questions number 1 and 2 in Section A are one-mark questions. They are
to be answered in one word or in one sentence.

Questions number 3 to 5 in Section B are two-marks questions. These are
to be answered in about 30 words each.

Questions number 6 to 15 in Section C are three-marks questions. These
are to be answered in about 50 words each.

Questions number 16 to 21 in Section D are five-marks questions. These
are to be answered in about 70 words each.

Questions number 22 to 27 in Section E are based on practical skills.
Each question is a two-marks question. These are to be answered in brief.
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YT A
SECTION A
1. W o fw fafau | 1
State Ohm’s law.
2. 9T I H Y o= Tl 9 Iufedra feral @ diwent o 9 fafigu | 1
Name any two nutrients that the spent slurry has in the biogas plant.
AT o
SECTION B

3. Torelt U@ TUU % g&F 1@ o FHWAR Afad fohell SR foRto 1 qeged!
qUEfdd fertor &1 g eerid o fou amifera fortor M@ difsw | 3@ sm@ W
AT HIT TR G hivT 3ifehd <hIFTT | 2

Draw a labelled ray diagram to show the path of the reflected ray
corresponding to an incident ray of light parallel to the principal axis of a
convex mirror. Mark the angle of incidence and angle of reflection on it.

4.  Torelt grrardt @Y aTes & e FIE Frehia g3 Wi 7 | Fefafad seton
for s1om Jegor farflaw ot g Sequr o forw s oft @ 2
(a) Toregq g o 9o ® gig i m=h 7 |
(b)  FrehId HS ! =TT H gL A ST AT R |

A compass needle is placed near a current carrying straight conductor.
State your observation for the following cases and give reasons for the
same in each case :

(a)  Magnitude of electric current is increased.
(b)  The compass needle is displaced away from the conductor.

5. HCl 3R CH3COOH H ¥ %H-Hl gl 37 & 3R i ? ferell 3q@w0r 6l

HEMEAl ¥ ST hifod | 2
3AYAT

“Aifeam gEEISH HEHE Th AT @@ 7 |7 389 %A i g Hifvw | 580 o

% die o fora g uftafda feram Siram 2 2 2

Out of HC]1 and CH3COOH, which one is a weak acid and why ? Explain

with the help of an example.
OR

“Sodium hydrogen carbonate is a basic salt.” Justify this statement. How
is it converted into washing soda ?

31/5/1 | 3 P.T.0.
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SECTION C

6.  ATafwEhl i aftwre fAfaw | e <t TEA § et BT STIAfehdT % gieewhi
g foan =1 faw #i 3 2 Gaw § =men Fif |
Define genetics. Why is decrease in the number of surviving tigers a
cause of concern from the point of view of genetics ? Explain briefly.

7. Tl stade gdo 1 BiwE 0 20 cm | 99 9 @ 4 om T FRE fon
fopaft g W T foh IgeRT widfers gdor € 30 cm g W &4 | &4 a7t Widfers
o1 @Ted ot aftepfora HifT |

AT

forell 3T oie gra forelt foral o1 o8 @ 12 om 3 W W@ I W 39T fora &
TS I 2/3 THT, ATEA(oreh STfesl S9AT 2 | TF %1 Bk gl 1A HINY |

A concave mirror has a focal length of 20 cm. At what distance from the
mirror should a 4 cm tall object be placed so that it forms an image at a
distance of 30 cm from the mirror ? Also calculate the size of the image
formed.

OR

A real image 2/37d of the size of an object is formed by a convex lens when
the object is at a distance of 12 cm from it. Find the focal length of the
lens.

8.  fortht b daem el ° WX Tothe & 2 g Toreeati bt i foRaT TR R |
(a) Toregl g1 Deaomt <t T=f ST |
(b) B arelt TETRe STl w1 R fafew |
(c) Afufspan =1 wgfera Ta@fe TR fafaw iR a7 ater el &
T fafau |

AT

M g e forem g fop Sfa fopelt = few § iR qeen (3ot) T R
ST &, A ST o IISST o WdH L I8 W Foret wiel ugred il wa o9 S
21

(a) I§ oAl Yerd A & AT 2

(b)  I§ IS YT AT 7 ?
(c) BN arelt srfufskan st qEmfTes geietor fafiey |
(d) Yo W S 38 e T Sl fohg TR ety il foram ST dehar 3§ 2

31/5/1 4
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2 g of ferrous sulphate crystals are heated in a dry boiling tube.
(a)  List any two observations.
(b) Name the type of chemical reaction taking place.
(c) Write balanced chemical equation for the reaction and name the
products formed.
OR
You might have noted that when copper powder is heated in a china dish,
the reddish brown surface of copper powder becomes coated with a black
substance.
(a)  Why has this black substance formed ?
(b)  What is this black substance ?
(c) Write the chemical equation of the reaction that takes place.
(d) How can the black coating on the surface be turned reddish

brown ?
9. 3MER F@al A wed § 2 foret wiitdy § ot vaTg TR w BT § 2
giereq =T i | 3
JrraT
(a) TSI I I I 3TCH (TF) TEI § & Fi T &1 AT, ?
(b) TGl & YH: YT hl GOT H 3T J: ITANT Ig i 8 2 3

What is a food chain ? Why is the flow of energy in an ecosystem
unidirectional ? Explain briefly.
OR

(a)  Why should National Parks be allowed to remain in their pristine
form ?

(b)  Why is reuse of materials better than recycling ?

10. heh ol HIFA HT Tt I o AT heh S0 THT IGH Ush Iad Y13 THATT
ST 8 | 39 9SS! % UHE 31a¥di o AW e qen T Ta¥d % B hl
ST T | Tehd hl 7T T IISST Bl T HH W BH dredt 311{shan =

TR gt ffEu | 3
A white powder is added while baking cakes to make it soft and spongy.

Name its main ingredients. Explain the function of each ingredient.
Write the chemical reaction taking place when the powder is heated
during baking.

31/5/1 | 5 P.T.0.
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11. 3 IR FUSierl P 3R Q Th-gat o &Y welt 7, 5w @ gueelt P 9w
vaTied 8 W 2 | Fusell Q % Rl o st wEife fieadiier § a9 Yaro
Eaule

(a) Ffe pugeh PH g ufafda i s 2

(b)  afe T puelert st wam fesn # wum =mer & v Eh SQ 2
Toh TRV H 3T IR hi R Ffga gfse HIfrT |

Two circular coils P and Q are kept close to each other, of which coil P
carries a current. What will you observe in the galvanometer connected
across the coil Q

(a)  if current in the coil P is changed ?

(b)  if both the coils are moved in the same direction with the same
speed ?

Give reason to justify your answer in each case.

12. (a) UIedl H UMY & A I Hdshl & A1 fARIU | TSt o S5ad H S

I Tfd ¥ forT JohR Yo% hLdT 8 2

(b) SRS HIT foh STl 1 o1 T qIgdl <hl Ipoll <l ATATIHATE HH
w1 Bt 7 |

(a)  Write two water conducting tissues present in plants. How does
water enter continuously into the root xylem ?

(b) Explain why plants have low energy needs as compared to
animals.

13. U w0 g T forelt faaea (efadem) # fma &1 yatg we dfaeh hifdeR &
dreme (TeET) T 8 el ikt shiftrent o gHTShTde fR <l TR i1 &, W
ggeh! Taudia foem & 781 grar 2 Tose i |
Why does the flow of signals in a synapse from axonal end of one neuron

to dendritic end of another neuron take place but not in the reverse
direction ? Explain.

14.  SoIf bl gt T o GG TNOMHT T 3ZE@ i | Hofl shl @Id ohl HH
T o TR 9T I FH AR |
Mention the environmental consequences of the increasing demand for

energy. List four steps you would suggest to reduce the consumption of
energy.

31/5/1 5
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16.

31/5/1 |

IS T T FIEGIFAleh A o 1Y UTshaT ek <fiet eegrae Icad i
2 | U 3SR e §9 YRR o 3FEh T A fAfav | wyg ek ¥ YT i
Ied i o fau fora-ferT =won <hi sTavIeRar Brft 2 3| Uik ® wfmfea
arfufshanati o TamEe Tt ot fafau |

An ore on treatment with dilute hydrochloric acid produces brisk
effervescence. Name the type of ore with one example. What steps will be
required to obtain metal from the enriched ore ? Also write the chemical
equations for the reactions involved in the process.

" g
SECTION D
(a) waﬁﬁq%&maﬁ%ﬁswﬁqq?ﬁ C4+‘a=rra=ra=naw%3ﬁt:r

B C4- UM ST Hohall &, T Hedls T4 AT § | Eeh! ST

T & fou ot R s 6 gggast Afe
(i)  Torrq = FaTcre w= A §; a9
(i) 39 ARl & TR R FaUEER [ = Bd @ |
(b) o= (CgHg) T HEHTHS g fofan |
YT
(a) ‘wHTEEd ug i gfem fafgu |
(b) < iRl 1 THH MM0GH FF CqHgO B | 3 QM1 Afehi & 919 3R
AT 7 ffew |
(¢c) 39 fFAfafeaa giteds ford gopr i -
(1)  UHier it b
(i)  TIU9TA sl TU-TIh 30T |
(a) State the reason why carbon can neither form C4+ cations nor

C4- anions, but forms covalent bonds. Also state reasons to explain
why covalent compounds

) are bad conductors of electricity.
(i1))  have low melting and boiling points.
(b)  Write the structural formula of benzene, CgHg.
OR
(a)  Define the term ‘isomer’.
(b)  Two compounds have same molecular formula C3HgO. Write the
name of these compounds and their structural formula.
(c) How would you bring the following conversions :
1) Ethanol to ethene
(i1)  Propanol to propanoic acid

7 P.T.O.
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(a)

(b)

(a)

(b)

18. (a)

(b)

(c)

(a)

(b)

(c)

31/5/1

5 cm 91 Hig o7 20 cm BT U & THHT ITA 8 & T&I 3§ W
3 o Trad W@l 2 | fara oW 9 g 30 cm B | S ot Wfdfers
1 feufa, whfd iR | w1 HiT |

SFd TR % [ R o @ @it qur IEH fee g,
ifers g o iR gl TMIhd SHIT |

A 5 cm tall object is placed perpendicular to the principal axis of a
convex lens of focal length 20 cm. The distance of the object from
the lens is 30 cm. Find the position, nature and size of the image
formed.

Draw a labelled ray diagram showing object distance, image
distance and focal length in the above case.

angfeh 3TTed ARt § qeal o gTfcas @iero ¥ fope YehR uftadH B & ¢
()  forelt orrad o SR ot & gRA T I W 2

(i)  Torelt TvE (FU) # W & = 0 W 2

Tcdeh Yeh{U1 H 328000 hl HERIAT ¥ SI1Ed] shifvg |

Ifc HIs a@ X IYg 14 H fE¥q B, A1 36eh FANISS H MeY hl Yol
1 B 2 S a1t ik 1 TErEfas g fafe |

forelt dea X 1 goIuH EEAT = 35 AT AT hl & = 18 7 | X I
TTTY] SHHTh 1 8 ? X 1 Soiaeieh faamd faiRau o s&eh! Tieiehan
freifa i |

How does metallic character of elements in Modern Periodic Table
vary on moving from

(1) left to right in a period ?
(ii)  top to bottom in a group ?
Explain with the help of an example in each case.

If an element X is placed in group 14, what will be the nature of
bond in its chloride ? Write the chemical formula of the compound
formed.

An element X has mass number = 35 and number of
neutrons = 18. What is the atomic number of X ? Write electronic
configuration of X and determine its valency.

8
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= fou o wfmei o, g 9itwe o, 2 Q Siags gRI I9AnT shi TR SrfedE

1 AT HINT 5
1Q
1Q 2Q
P, .
2 Q
+| N +H o |-
| ! 1]
6V 4V
A B

AT

forelt Sca T 1A 40 W; 220 VB | 39 Sed @l 220 V 3Yfd & Gifod
HE W ded g o T g F{a HIT | sew 1 gfeiy ot 3ma Hifse | afe
39 §od &l 25 W; 220 V TIHATH o fohdll od grRT Wiaeenfud =t ¢, i &m
3R wfeier <6 AT | R gfteds g 2 319 I <l SR Ffgd gfee Hifve ofi
BN o1 afterdHt o feifa Hife | 5

Compare the power used in 2 Q resistor in each of the following circuits :

1Q

1Q 2Q
VWY VWV

OR

A bulb is rated 40 W; 220 V. Find the current drawn by it, when it is
connected to a 220 V supply. Also find its resistance. If the given bulb is
replaced by a bulb of rating 25 W; 220 V, will there be any change in the
value of current and resistance ? Justify your answer and determine the
change.

31/5/1 | 9 P.T.0.
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(a)

(b)

(a)

(b)
(c)

(a)

(b)

(a)

(b)
(c)

21. (a)

(b)
(a)

(b)
31/5/1

AT 3R 9 < sff= fave e | forelt g7 % fvem @ T
3R IS T 3IgE HilNT |
fffaa wrTl T gITd g SRR 1 ATHIThd 3@ I
afdermr, afdet, STUgTM, UTeT IWh
Jrra
%w%waawm@ﬁqaﬁtﬁmﬁmwﬁw’m

(i) 9§ YT S SIS Icqd LT 7 |

(i) 98 9N &l 8= g B |

iffTeh TRl gRT B et &l Starul-sffaa Wi shl i aA18Y |

mifRiges Jirai F1 Bt & 2 aHa g mifRies IR S T9H %
3l R Y |

Distinguish between cross-pollination and self-pollination. Mention
the site and product of fertilization in a flower.

Draw labelled diagram of a pistil showing the following parts :

Stigma, Style, Ovary, Female germ cell
OR

Draw a diagram of human female reproductive system and label
the parts :

1) which produce an egg.
(i1)  where fertilization takes place.
List two bacterial diseases which are transmitted sexually.

What are contraceptive devices ? Give two reasons for adopting
contraceptive devices in humans.

fFrafefaa fore yor el & forra & wgds & ymor wega @ 8 2
Tcdeh ohl ICTEUT Tigd AT Shity |

(i)  GusTd 3

(i) EHEY (FEgR) o

(iii)  fterem

Sfrarent it 31y freifa w6 @ fafeat 6 smen Fif |

How do the following provide evidences in favour of evolution in
organisms ? Explain with an example for each.

1) Homologous organs

(ii))  Analogous organs

(111) Fossils

Explain two methods to determine the age of fossils.

10
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SECTION E
22. 5 99 B Tothe I § s o T ST 9T 319 1 YT il 2 39T I
o forg sHre T | 2

What would you observe on adding zinc granules to freshly prepared
ferrous sulphate solution ? Give reason for your answer.

23. A folena U & 93 g Tl stra <h Iufeafa w1 wdfieror form gepm fomam

ST 8 2 2
YT
UHifesh A o TUIUHT HT HLRE HH b I ThH B HI TAN H G 7 |
Fr=fafaa geat o1 3 G 2
(i)  hIed SEIFHEE 3T hid o fou WEifesh et ° fya® o9 ot gered
w1 a1 fefley |

Gi)  arfvfsean & foTu deg vartie gt dfu |

(i) AT H CO,, 18 1 ql&0 98 fohd T T ?

How is the presence of an acid tested with a strip of red litmus paper ?
OR

A student is performing an experiment to study the properties of acetic

acid. Answer the following questions :

) Name the substance he must add to acetic acid to produce carbon
dioxide.

(i1))  Give the relevant chemical equation for the reaction.

(iii) How would he test CO4 gas in the laboratory ?

24. i3 WeTH I B B, B A GH 9 s aqd U, TH TAE A
BIHH G 20 cm 8, SR IE TR gLeY fofra o1 Sfdiforra ST ook 39 g1 ohl
HIshH AT FTd T o 7T shed & | a8 B fohell qrewr ge1 w1 fora o1 wifd
TN hieh, TRI-GRI & 39 loaai g forelt o W g&1 w1 figor gfafera ymea
HA R | 3 QHI TH0N H AE/gH0T 3T UG o 1= ol gREr dy 3T dy a1 3
degey Gyl deur gfafers g
(a) (20 cm, 40 cm) 3T (Fy R Hiem)

(b) (20 cm, 40 cm) 3R (3T AR IeT)
(c) (20 cm, 20 cm) R (I 3N 3een)
(d (20 cm, 40 cm) 3R (e IR 3e2)
I IR & fore swror S | 2

31/5/1 | 11 P.T.0.
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25.

A teacher gives a convex lens and a concave mirror of focal length of
20 cm each to his student and asks him to find their focal lengths by
obtaining the image of a distant object. The student uses a distant tree as
the object and obtains its sharp image, one by one, on a screen. The
distances d; and dy between the lens/mirror and the screen in the two

cases and the nature of their respective sharp images are likely to be
(a) (20 cm, 40 cm) and (erect and erect)

(b) (20 cm, 40 cm) and (inverted and inverted)

(c) (20 cm, 20 cm) and (inverted and inverted)

(d) (20 cm, 40 cm) and (erect and inverted)

Give reason for your answer.

e frefiuier 3 dicedier 1 39T &1 foran S @1 8 ad fermrasen § gaeh!
g i feufd oi@ A ¥ qiT 38R & | 59 i S 31 Joaal 1 TN
forelt o | R T@T R, @ 3R gEAi 1 feufa @ B U @it sER 7 | O
3R dieedl o 31 T AHi ol gl it 8 39 8@ & 3w afehed ¥
YA HET AT |

ARG A 3™ B

HAAT

31/5/1 12
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O]
Torelt wfaass @ weifga o (D) K 38 Ufdligs & 0 | fawea=w (V) ®
fdtar 1 e % TN H R B 4 @ # gWiT ER Uh TN
foram |
G) I8 U fawarat W amg ) v & fowa § = e war g 2
(i) & Yfligs & 0 W fawe=R 25 V 8, a9 398 Jaied o0 Jd

SHIfT | 2
T 0-4+
0-3t+
IA)
0-21
0-11
1 2 3 4
v (Eﬁﬁ) —

The rest position of the needles in a milliammeter and voltmeter, not in
use, are as shown in Figure A. When a student uses these instruments in
his experiment, the readings of the needles are in the positions shown in
Figure B. Determine the correct values of current and voltage the student
should use in his calculations.

@0 10 i/mA \: 30@ 10~/ mA

\
Figure A Figure B
OR

31/5/1 | 13 P.T.0.
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26.

27.

In the experiment to study the dependence of current (I) on the potential

difference (V) across a resistor, a student obtained a graph as shown.

1) What does the graph depict about the dependence of current on the

potential difference ?

(ii1)  Find the current that flows through the resistor when the potential

difference across it is 2:5 V.

T 0-4+

0-3t1
L)
0-24

0-11

1 2 3 4

V (volts) —

‘T g & fou et u=ft & Tt o1 Surl g dur &, = |
e 37 Awkfam 1 39T fopan ST 2 1 99 291 hT IUINT hel SR o= kAT
AT 8 2 AT ShifN |

In the experiment “To prepare a temporary mount of a leaf peel to show

stomata”, glycerine and safranin are used. When and why are these two

liquids used ? Explain.

Tt 3 <t % O 3 FrRRad AT A1 qui % Ry THited s iR

SSTos, T, AT

HAAT

14
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o~
foret BT 3 B3 W 3N ST g arelt TRl Ttse w1 ver fRar | 39
Toremeff gra fepu @ Jeqort w1 3 A W IR M@ Wifww | 38 S A
gfsha o1 9 oft faRaw |

Draw labelled diagram to show the following parts in an embryo of a pea

seed :

Cotyledon, Plumule, Radical
OR

A student observed a permanent slide showing asexual reproduction in
Hydra. Draw labelled diagram in proper sequence of the observations
that must have been made by the student. Name the process of

reproduction also.

31/5/1 | 15



